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IV Semester B.Com. Examimaton, May
COMMERCE

[June - 2019

4.4 Cost Accounting

(CBCS) (Fresh+Repeaters] (2015-16 & Onwards)

Time : 3 Hours Max. Marks : 70

Instructions to Candidates :

Answer should be written completely either in English or in Kannada.

oeyer — @ / SECTION - A

_gaivr] evgod. @8 Boodea wugdy 2 008D 5x2=10

1. odna)@ewte 0@ gOB
(a) dagd wo3dnigy adreR)D) ?
(b) BSeez Bl Doxderd ?
(c) ﬁaeegegdab& ARIGREICI
(d) o o3seeasaiodrey Breesodad, Berd o &Bo3I0N0 ?
() w08 t:\de daéﬁocddeab 2
() ez ReT0alrEh H0BBeRD ? odrommertse 2060 VTR TEs Jed.

(@) Rpomoeds sgob, Sok0mE eugesrive, Sus.

Answer any five sub-questions. Each question carries two marks.

(a) What are the elements of Cost ? h
(b) What are Indirect materials ?

(c) Define Overhead.
(d) How do you calculate wages under Halsey plan ?

(e) What is semi-fixed cost ?
(ff What are service departments ? Give an example.
(g) State the purposec of preparing a Reconciliation Statement.

&egori - & / SECTION - B

cdramedds e ZHriuri o, e IOoIRE WIJY 6 0BT
arries six marks.

3x6=18

) Answer any three questions. Each question ¢
2. B SPGB ed evgdedriva, Sogegeen DTBOD.
Briefly explain the three objectives of cost accounting.
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3. Bk F¥T0R dnsH8o0d. M3shab eswed Mg Horie 20w SReTey BroBE
sried Foakrivah), Fo@sHBond.

(a) Bz0d® o) w¥E Pdorm 4000 adedeerisd
(b)  e.0mb estSedadnt, remden Sriens ey T 100

(c) @0t odwedes Jeg T 80

(d) Sofsme s Bredd g3 WoRRAT Be. 8% da

From the following information, calculate Economic Order Quantity and
calculate number of orders to be placed in a year.

(a) Quarterly consumption of materials 4000 units

(b) Cost of placing one order T 100

(c) Cost per unit T 80

(d) Storage and carrying cost 8% of inventory

4. 39F0T @Bres 8000, aled Begadad), Sadrede.
eVEIED g3 % 5,00,000
7 FRAN WyPoes womeab (F& aduedwsr T 25 o) 2500 odaedernisd
4G SWHT B0t woxRAR 5000 odwedersrish
wre0ees ee3 - Srevewen B 0lRLE sheed T 5 dod
&gl - SRoewd heed Be. 20% JoI |
7500 cdeRetrish @ievetsaofias.

From the following information, prepare a cost sheet.

Cost of production ¥ 5,00,000
Opening stock of finished goods (@ ¥ 25 per unit) 2500 units
Closing stock of finished goods 5000 units

Selling expenses @ ¥ 5 per unit sold
Profit @ 20% on sales

7500 units were sold.
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5. FIFO dgéocb@oi)gg e ZYBOR FID&SONOT mempREe 3047000

== 2019, 1-500 oduederrigRy, B odpoed T 20 B3 4eBdIT

53 2010, 10-300 clRREridal, B8 oeRWTR 24 dod FesO/W

>
>
> =36 2019, 15-700 aduederrigad, QerdesahHes

250 2019, 20-400 odredurrids, B8 odedeers X 28 dod geﬁ@&:(ﬁ
=350 2019, 25-300 ohederigy, dedeend
23536 2019, 28-500 odeRerriva, B8 oot T 22 803 4esdaT

=50 2019, 31-200 odaedererigay QemeRns

From the following information, prepare Stores Ledger Account under FIFO

Method.

Jan 2019, 1 Received 500 units @ T 20 per unit
Jan 2019, 10 Received 300 units @ T 24 per unit
Jan 2019, 15 [ssued 700 units

Jan 2019, 20 Received 400 units @ T 28 per unit
Jan 2019, 25 Issued 300 units

Jan 2019, 28 Received 500 units @ ¥ 22 per unit

Jan 2019, 31 Issued 200 units

>

0 do3, 30 Noedriy &F FehodaRy QOOBBTEITVOND.

6. 200 sutiegeris P roe3r3X 10
0, De@en CoYAER, Hoe Sy Gresn® olpeasod

g 2ey3r7e0 6 roLdriy Bhodh

gwe0 03 Breesnddd, B0 E&BON0.
Standard time allowed for a job is 30 hours at the rate of ¥ 100 per hour.
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Actual time saved by a worker is 6 hours. Calculate his earning under Halsey
system and Rowan system.
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&grori - & / SECTION - C |
cdrgywerde SR Y v euZde. e Yoowed eu3tE 14 wosrit. 3x14

Answer any three question, each correct answer carries fourteen marks.

7. B0 20190y SoFuoleondy e FENNOB meRbANYR, WBed Borie VedF

SecdernNes :
Yew,3 meg od
04-02-2019 800 ohee®ried ¥ 24 B8 odweresrrs
10-02-2019 600 aduedernis ¥ 23 B& odwedeerd
18-02-2019 400 cheets % 24 Z& oeswer
22-10-2019 400 cdederris ¥ 23.50 & oduedeser
QedF y M3
05-02-2019 1000 oderrith
12-02-2019 800 cdwederriy
25-02-2019 1000 cduederrs

B~e0% 01-02-2019 docd woRRh - T 25 P8 adwede*dod 800 chelwerive. FIFO
&) LIFO wgéabg,g Biei slats] auaﬁodmb& 30370048,

The following transactions occurred in purchases and issue of materials in
an organisation during February 2019.

Receipts Quantity Rate
04-02-2019 800 units % 24 per unit
10-02-2019 600 units ¥ 23 per unit
18-02-2019 400 units ¥ 24 per unit
22-10-2019 400 units ¥ 23.50 per unit
Issues Quantity

05-02-2019 1000 units

12-02-2019 800 units

25-02-2019 1000 units

The stock on 01-02-2019 was 800 units @ X 25 per unit. Prepare the stores
ledger account under FIFO and LIFO method.
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8. == 2vdon aaidne abog o5t 1 Fowodd

. obozs ey Z 10,00,000
2625030 10 SReried
=80 o) S wade T 3,00,000
md) dda % 1,00,000

' aaoﬂmsasm 2750 Hotdritd

= o 2o womeen 200 Hoelne (suspdme Bababaow BoriBRw)
Sho2d ket w98 20 abrRttts Fe roei, T 20 P8 ohe’urr
e sy 530 wYSaRED) T 4,000 P& Soriud

T 8,000 ©& doriwuri (030 1/4 Be oboZg To0HITI)
252030 Moy T 10,000 ga sorjur} (w33 1/5 Jshod Je oboZgd oeereNnl)

i b‘o'SeG B JTJeBETO a’fes @o&Eed X 45,000
oaEd T 30,000 (2s63 20 Bemriwd sheriabeny. 9wy 5 demrith e -
mo@fbd)

rioﬁz::iddab BoRHBODD.
in’llowmg details are related to Machine X

st of the machine Z 10,00 000
amated Life : 10 years

ransportation and installation charges ¥ 3,00,000
ap value ‘ ¥ 1,00,000
arly working hours 2750 hours

g up time is estimated at 200 hours which is regarded as productive

e power 20 units per hour @ ¥ 20 per unit
and other consumables ¥ 4000 p.m.
f 2.000 p.m. of which 1/4 is allocated to this machine.
servisor salary ¥ 10,000 p.m. (1/5"™ of his time is devoted to this machine)
ser departmental overheads allocated to this machine ¥ 15,000 p.m.
airs and maintenance cost of the machine ¥ 45,000 p.a. ;
ine T 30,000 p.a. (there are 20 light points in the shop of which 5 light
me related to this machine.) ;
- Machine Hour Rate.

P.T.O.
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9.

(o) @b Bow? DI

2080 Fowee Jodes Baedh VTIBN Fereadrieh worie 0@ Beove gesirusl. e g 7
DBV T0R0T Te FYROBOS :

R0l )
A 3,00,000
B 3,50,000
C 2,00,000
X 80,000
I 60,000
X @) Y Bewo govaiod mebenvm, Sesmomoth emedd seed g FYT0BOS B0e30.
eVTRINY Herealrish dewve geralrivh
i o]
A B Cc X b4
RES R | 30% | 20% | 30% | - | 20%
X
Y 40% 30% 20% 10% -

§oead ehedet a¥Swo Bigadry, S FEEOR dHIRrive Sotmow,

[
() OFFeId FedTeo Edtgé
A factory has three production departments and two service departments.
The overhead distribution summary shows the following :

Departments Amount (%)
A 3,00,000
B 3,50,000
£ 2,00,000
X 80,000
Y 60,000

The service departmental expenses of X and Y are to be distributed on a
percentage basis as follows :

Production departments Service
Particulars departments
A B C X Y
SERVICE
DEPARTMENTS 30% 20% 30% - 20%
x s
Y 40% 30% 20% 10% -

Prepare a Secondary Overhead Distribution statement under :
(a) Repeated Distribution Method
(b)  Simultaneous Equation Method
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10. 206 BomRo 20188 3302 Ge FEFOBOST.

1-1-201830cd '&Ed){jﬁ%ﬁb (ARGIDIN Z 70,000
31-12-20188050 Teef)rie womg™ % 10,000
»dedIT Hoedh) ¥ 1,00,000
FOAVE R L | ¥ 2,00,000
FDaTOE R BRVETIHY Z 36,000
esRUD 0eETIED T 44,000
1 1-1-20180¢ &g SO BB0NT CIORRR) -
31-12-20180%3 &5 SIS WOZT ORIDR % 40,000
AVRlepiX] _ ¥ 5,00,000

201839 pu=RES 4000 odeerrisd

2019dgs 1000 o HYRy, BRGPEO 20T e,gorHRY, TOBR 3richBeoda) 38
= andzeTdess. 2019 0 ToshfriY &3 Be. 15% gy HOFoern), FOWEN B
Be. 10% 9y wdFaderied. 2018 3 g3 Begod, 3037008 Fore HOBT TREBY
Audn Besr eoe) Se Bae Begabhe ARG ©0mesd, B8 abuelerr ridBBI3eTE
— 2Be3oday, BoR @R 2019 3 Joroe Begaday, 3oITIOI. 2018 godode woeeded
e v P ol SpoEdadna)Bor ©oTee.

The following data is furnished by a company for the year 2018.

'v Stock of materials on 1-1-2018 % 70,000

> Stock of materials on 31-12-2018 % 10,000

~ Purchase of materials Z 1,00,000
Factory wages % 2,00,000
Factory Expenses % 36,000
Administrative Expenses T 44,000
Opening stock of finished goods on 1-1-2018 nil
Closing stock of finished goods on 31-12-2018 T 40,000
Sales : ¥ 5,00,000

Production during 2018 was 4000 units.

' The company wants to quote for a contract for the supply of 1000 units
during the year 2019. During 2019, the cost of materials increased by 15%
and that of factory wages by 10%. Prepare a statement of cost for the year
2018 and a tender statement for 2019 showing the price to be quoted per
unit, if the same percentage of profit is maintained as in the previous year.
Assume the overhead charges per unit will be the same as in 2018.

P.T.O.
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11. @ 398038 T30 worh Breowoedd BEPOOR™), VFBAL :
D&Id
e Deedry gwed gy Jgg
FooderiY sbeeledrieh adag SgBIrige 3B Sreernns
g SeBYrive Sepd 003 JHTw
e 3T BIrivey Be5H) Fedueddtha esBy3 abeelesrisd

BRAFaD Seess o8
BEOTOD t’igaigdg é’ﬁcbmﬁggsg Resh

- Des38Atha sweady 3003 % 80,600
BT STBIBey Do BrRowaedd (S0e®) T 950
BeOTORD SFBITE DRV Domab heess By ¥ 13,500
Sro00E3 &eegaéri& a"eée?ﬁwgidgg ée@h SFeerns3 ¥ 8,250
ﬁagdgaigdgg DRIDT Posdreos3 e’ T 40,000
de3Sgagmey wosab AREHRY aﬁ’ae.)tg % 20,750
BB STBIWe ©odeh DoTRAT dPey T 18,750
BOFITD STDIE QIHE Toow eessd ) T 11,000
Prepare a Reconciliation statement from the following data.

Net Loss as per cost accounts < 3,44,800
Works overhead under recovered in cost accounts ¥ 6,240
Depreciation overcharged in cost accounts ¥ 2,600
Administration overheads recorded in excess in cost accounts - ¥ 2,600
Interest on Investments < 17,500
Goodwill written off in financial books 11,400
Income Tax paid < 80,600
Stores adjustment (credit) in financial books T 950
Depreciation of stock charged in financial books ¥ 13,500
Selling overheads over recovered in cost accounts T 8,250
Notional rent charged in cost accounts T 40,000
Value of Closing stock in cost accounts < 20,750
Value of Closing stock in financial accounts ¥ 18,750
Interest on loan charged in financial accounts ¥ 11,000
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